Evaluate n~ Roots, Use Ratlonal Exponents, and Apply Properties of
Rational Exponents. GOALS: “”

What are the properties of exponents?

PROPERTIES OF RATIONAL EXPONENTS
Let @ and b be real numbers and let m and n be

REAL nth ROGTS OF 2

Let » be an integer (n > 1) and let 2 be a real number. rational numbers. The following properties have the
If n iis an even integer: If n is an odd integer: same names as those in Lesson 5.1, but now apply to
rational exponents.
- a<0 Norealnthroots. - a <0 One real nth root: Property
Va=_a" 4 ama gt mamEe 42,492 = 402+ 3/2)
r g ={ One real nth root: + a = 0 One real nth root: =42 = 16
_ % = L % oo l 2, {amp = gme (25/2)2 m 52 = 95 = 32
» a>0 Two real nth roots: + 2 » 0 One real nth root: || 3. {ab)™ = a™b™ (16 - 42 = 161/2 . 412
Va = +al7 Va= g2 =4-2=8
U 12 _ 1 _ 1
4.3 m= a0 257V =gEi= 5
5.§=am“ﬂ,aa&o 82 _gE2-12= 32=9
PROPERTIES OF RADICALS 8 3”“1/3 "
Tl m
Product Properiy of Radicals  Quotient Property of Radicals 6. {%] = ':—m', b#0 ("25-{) = 2;—3 = i

o g
Varb= a-Oh i = o

Rewriting nth roots:
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.40 = y* =7
Rewrite the following as an nth root and simplify:
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Evaluate an expression w/rational exponents,
4

Evaluate 8 *
Two Ways: -4 {
Rational exponent form: Radical form: g I He
g5= 8
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Solve equations withmtir'roots. _ | _ I

Goals . N i 2
1. Isolate exponent Samp f}l J 27
2. Take the root of both sides. Sedyeg,

3. Solve for x (keep in mind that even roots have two solutions “+” and odd only one)

a. 2x6 = 1458 b. {x + 43 = 12
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Tsolute X = 7219 [eot X F4
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X = 3
X +4 = \/Tf
X= -4+ 12

XX -44+2,29
X 2 —[.7]
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